



## Multiplication de nombres relatifs.

Trouve le signe du résultat de cette succession de multiplications.

$$(-5) \times (-4) \times (-2) \times (-4) \times (-4) \times (-4) \times (-4) \times (-4) \times (-4) \times (-4) = \square \quad 163 \ 840$$

$$1 \times (-8) \times (-2) \times 2 \times (-5) \times 1 \times (-5) \times 6 \times 9 = \square \quad 43 \ 200$$

$$(-5) \times 7 \times 3 \times (-4) \times 4 \times (-3) \times 9 \times 6 \times 1 = \square \quad 272 \ 160$$

$$7 \times 5 \times (-4) \times (-6) \times 8 \times (-7) \times (-9) \times (-3) \times 2 = \square \quad 2 \ 540 \ 160$$

$$(-9) \times 5 \times (-4) \times (-3) \times (-2) \times 1 \times (-2) \times 8 \times (-4) = \square \quad 69 \ 120$$

$$6 \times (-8) \times 7 \times (-7) \times 1 \times 2 \times 6 \times 3 \times 5 = \square \quad 423 \ 360$$



## Multiplication de nombres relatifs.

Trouve le signe du résultat de cette succession de multiplications.

$$(-9) \times 1 \times (-8) \times (-2) \times 4 \times (-3) \times (-5) \times (-6) \times (-7) = \square \quad 632 \ 880$$

$$2 \times 2 \times (-2) \times (-2) \times 2 \times (-2) \times 2 \times 2 \times 2 = \square \quad 512$$

$$2 \times 2 \times (-2) \times 2 \times 2 \times 2 \times 2 \times 2 \times 2 \times 2 = \square \quad 512$$

$$2 \times 2 \times (-2) \times 2 \times (-2) \times 2 \times (-2) \times (-2) \times 2 = \square \quad 512$$

$$(-2) \times (-2) \times 2 \times 2 \times 2 \times 2 \times 2 \times 2 \times 2 \times 2 = \square \quad 512$$

$$2 \times (-2) \times (-2) \times (-2) \times (-2) \times (-2) \times 2 \times 2 \times 2 = \square \quad 512$$





## Multiplication de nombres relatifs.

Trouve le signe du résultat de cette succession de multiplications.

$$2 \times (-2) \times (-2) \times 2 \times (-2) \times 2 \times (-2) \times (-2) \times 2 = \square \quad 512$$

$$2 \times (-2) \times 2 \times (-2) \times 2 \times 2 \times (-2) \times 2 \times 2 = \square \quad 512$$

$$2 \times (-2) \times 2 \times (-2) \times 2 \times (-2) \times 2 \times 2 \times 2 = \square \quad 512$$

$$(-2) \times 2 \times (-2) \times 2 \times (-2) \times 2 \times (-2) \times 2 \times 2 = \square \quad 512$$

$$2 \times 2 \times (-2) \times (-2) \times 2 \times 2 \times (-2) \times (-2) \times 2 = \square \quad 512$$

$$(-2) \times (-2) \times 2 \times 2 \times (-2) \times (-2) \times 2 \times (-2) \times 2 = \square \quad 512$$



## Multiplication de nombres relatifs.

Trouve le signe du résultat de cette succession de multiplications.

$$(-3) \times (-3) \times (-3) \times 3 \times 3 \times (-3) \times (-3) \times 3 \times 3 = \square \quad 19 \ 683$$

$$3 \times 3 \times (-3) \times (-3) \times (-3) \times (-3) \times (-3) \times (-3) \times 3 = \square \quad 19 \ 683$$

$$3 \times (-3) \times (-3) \times (-3) \times (-3) \times (-3) \times 3 \times (-3) \times (-3) = \square \quad 19 \ 683$$

$$3 \times (-3) \times 3 \times 3 \times 3 \times 3 \times 3 \times (-3) \times 3 \times 3 = \square \quad 19 \ 683$$

$$3 \times 3 \times (-3) \times 3 \times 3 \times 3 \times 3 \times 3 \times 3 \times 3 = \square \quad 19 \ 683$$

$$3 \times 3 \times 3 \times 3 \times 3 \times (-3) \times (-3) \times (-3) \times (-3) \times 3 = \square \quad 19 \ 683$$



## Multiplication de nombres relatifs.

Trouve le signe du résultat de cette succession de multiplications.

$$(-2) \times 2 \times 2 \times (-2) \times (-2) \times (-2) \times 2 \times 2 \times 2 = \square \quad 512$$

$$(2) \times (-2) \times (-2) \times (-2) \times (-2) \times (-2) \times (-2) \times (-2) \times (-2) \times (-2) = \square \quad 512$$

$$2 \times (-2) \times 2 \times (-2) \times (-2) \times (-2) \times 2 \times (-2) \times 2 = \square \quad 512$$

$$2 \times 2 \times (-2) \times 2 \times 2 \times (-2) \times 2 \times 2 \times 2 = \square \quad 512$$

$$(-2) \times (-2) \times 2 \times (-2) \times 2 \times 2 \times 2 \times (-2) \times 2 = \square \quad 512$$

$$(-2) \times 2 \times (-2) \times 2 \times 2 \times (-2) \times (-2) \times 2 \times (-2) = \square \quad 512$$



## Multiplication de nombres relatifs.

Trouve le signe du résultat de cette succession de multiplications.

$$(-3) \times 3 \times (-3) \times 3 \times (-3) \times 3 \times 3 \times 3 \times 3 = \square \quad 19 \ 683$$

$$3 \times 3 \times 3 \times (-3) \times (-3) \times 3 \times (-3) \times (-3) \times 3 = \square \quad 19 \ 683$$

$$3 \times (-3) \times 3 \times 3 \times 3 \times 3 \times 3 \times (-3) \times 3 = \square \quad 19 \ 683$$

$$3 \times 3 \times (-3) \times 3 \times (-3) \times (-3) \times (-3) \times 3 \times (-3) = \square \quad 19 \ 683$$

$$(-3) \times (-3) \times 3 \times (-3) \times 3 \times (-3) \times 3 \times (-3) \times (-3) = \square \quad 19 \ 683$$

$$(-3) \times 3 \times 3 \times (-3) \times 3 \times (-3) \times 3 \times 3 \times 3 = \square \quad 19 \ 683$$







## Multiplication de nombres relatifs.

Trouve le signe du résultat de cette succession de multiplications.

$$(-3) \times 3 \times 3 \times 3 \times (-3) \times 3 \times 3 \times (-3) \times 3 = \square \quad 19 \ 683$$

$$3 \times 3 \times 3 \times (-3) \times (-3) \times (-3) \times (-3) \times 3 \times (-3) = \square \quad 19 \ 683$$

$$3 \times (-3) \times (-3) \times (-3) \times 3 \times 3 \times (-3) \times (-3) \times (-3) = \square \quad 19 \ 683$$

$$(-3) \times 3 \times (-3) \times (-3) \times 3 \times (-3) \times 3 \times (-3) \times 3 = \square \quad 19 \ 683$$

$$(-3) \times 3 \times (-3) \times (-3) \times (-3) \times 3 \times (-3) \times (-3) \times 3 = \square \quad 19 \ 683$$

$$(-3) \times 3 \times (-3) \times 3 \times (-3) \times (-3) \times (-3) \times (-3) \times (-3) = \square \quad 19 \ 683$$



## Multiplication de nombres relatifs.

Trouve le signe du résultat de cette succession de multiplications.

$$2 \times 2 \times 2 \times 2 \times (-2) \times 2 \times (-2) \times (-2) \times 2 = \square \quad 512$$

$$2 \times (-2) \times 2 \times (-2) \times 2 \times (-2) \times 2 \times (-2) \times (-2) = \square \quad 512$$

$$(-2) \times 2 \times 2 \times 2 \times 2 \times 2 \times 2 \times 2 \times (-2) = \square \quad 512$$

$$2 \times 2 \times (-2) \times (-2) \times 2 \times (-2) \times 2 \times (-2) \times 2 = \square \quad 512$$

$$(-2) \times (-2) \times 2 \times (-2) \times (-2) \times 2 \times (-2) \times (-2) \times (-2) = \square \quad 512$$

$$2 \times 2 \times (-2) \times 2 \times 2 \times 2 \times 2 \times 2 \times 2 \times 2 = \square \quad 512$$



## Multiplication de nombres relatifs.

Trouve le signe du résultat de cette succession de multiplications.

$$(-3) \times 3 \times (-3) \times (-3) \times (-3) \times (-3) \times (-3) \times (-3) \times (-3) \times (-3) = \square \quad 19 \ 683$$

$$3 \times (-3) \times 3 \times (-3) \times (-3) \times 3 \times 3 \times (-3) \times (-3) = \square \quad 19 \ 683$$

$$3 \times 3 \times (-3) \times (-3) \times 3 \times (-3) \times (-3) \times 3 \times (-3) = \square \quad 19 \ 683$$

$$3 \times 3 \times (-3) \times (-3) \times 3 \times 3 \times (-3) \times 3 \times 3 = \square \quad 19 \ 683$$

$$(-3) \times (-3) \times 3 \times (-3) \times 3 \times (-3) \times 3 \times (-3) \times (-3) = \square \quad 19 \ 683$$

$$3 \times 3 \times (-3) \times (-3) \times 3 \times (-3) \times (-3) \times (-3) \times 3 = \square \quad 19 \ 683$$



## Multiplication de nombres relatifs.

Trouve le signe du résultat de cette succession de multiplications.

$$(-2) \times (-2) \times (-2) \times (-2) \times (-2) \times (-2) \times (-2) \times (-2) \times 2 \times (-2) = \square \quad 512$$

$$2 \times (-2) \times 2 \times (-2) \times (-2) \times 2 \times (-2) \times 2 \times 2 = \square \quad 512$$

$$(-2) \times (-2) \times (-2) \times (-2) \times (-2) \times (-2) \times 2 \times 2 \times (-2) = \square \quad 512$$

$$2 \times 2 \times (-2) \times (-2) \times 2 \times (-2) \times (-2) \times (-2) \times 2 = \square \quad 512$$

$$(-2) \times 2 \times (-2) \times (-2) \times 2 \times 2 \times (-2) \times 2 \times 2 = \square \quad 512$$

$$2 \times 2 \times 2 \times 2 \times (-2) \times 2 \times 2 \times 2 \times 2 = \square \quad 512$$

